SECTION - D
8. [Rerve the Chebychev Spacing equation, 20

8. Two parallel shafts are to be connected by spur
gearing. The approximate distance between the shaft
15 600 um, If one shaft runs at 120 rpm and the other
al 350 rpm, find the number of teeth on each wheel, if
the module in 8 mm. h_mﬁ determine  the exact

distance apart of Lhe shafts. 20
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Before answering the questions, candidates showld ensure that they ()
have been supplied the correct and complete question paper. No Q
complaint in this regard, will be entertained after examination.

a

Note: Question 1 is compulsory and attempl any one—
questions from each Section. All questions carry m

equal marks.
1. Explain the following : 25x8=20
{a) Define link and explain its types.
(b) Difference between Machine and Mechanism.

(c) Explaindifferent types of Joints with examples.
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(d Define Kinematic chain.

(2) Explain typesof friction.

o

(f) Explain Law of Belting.
(2) Define face of wwoth and fank of tooth.

() Define trace point, cam angle and pitch curve

terms used in cam,
SECTIOMN - A

2. In a crank and slotted lever quick return mechanism
the distance between the fixed centres is 150 mm and
the driving cranks is 75 mm long. Determine the ratio
of the time taken on the cutting and return strokes. 20

3. The crank of a reciprocaling engine revolves at a
uniform speed of 310 rpm in a clockwise direction.
The crank and connecting rod are 15 cm and 65 cm
long respectively. Find the velocily of piston for crank
positions from 0° to 90° from inner dead centre at
intervals n_.m 30°. Plot the velocities on a crank angle

base. 20
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SECTION-B

Derive the question for minimum force required to

P
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drag a body on rough inclined surface.

Find the length of the cross belt and power
transmitted by a belt. 20

SECTION-C

A cam rotating at 150 rpm operates a reciprocating
roller follower of radius 2.5 em. The follower axis is
offset by 2.5 em to right. The least radius of the cam is
5 cm and stroke of the follower is 5 cm. Ascent and
descent both take place by uniform (rotation)

acceleration and retardation. Ascent laken place O

n

during 75° and descent during 90° of cam rotation. (Q
Dwell between ascent and descent is 60°. Draw the

cam profile. Also sketch velocity and acceleration

ra
o
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diagrams and mark salient values.

Explain® Law of: Gearing with the help of neat
diagram. 20
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